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𝐴𝑛𝑠:  𝑟 = 0.1843𝑚  
 

 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

𝐴𝑛𝑠:  𝑣1 = 35𝑉 , 𝑣2 = 5𝑉 , 𝑣3 = 30𝑉  
 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  
𝐴𝑛𝑠:  𝑖1 = 14𝐴 , 𝑖2 = −2𝐴 , 𝑖3 = 10𝐴 
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𝐴𝑛𝑠:  𝑖1 = 7𝐴 , 𝑖2 = −5𝐴  
  
 

 
 
  

𝐴𝑛𝑠:  𝑉1 = −8𝑉 , 𝑉2 = 6𝑉 , 𝑉3 = −11𝑉, 𝑉4 = 7𝑉 
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𝐴𝑛𝑠:  𝑣 = 10𝑉 , 𝑖𝑥 = −2𝐴  
 
 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 𝐴𝑛𝑠:  𝑣𝑜 = 4.5𝑉 
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𝐴𝑛𝑠:  𝑣1 = 2𝑉 , 𝑣2 = −22𝑉 , 𝑣3 = 10𝑉 

 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
  

𝐴𝑛𝑠:  𝐼 = 4𝐴 , 𝑉𝑎𝑏 = 28𝐴  
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𝐴𝑛𝑠:  𝐼 = −2𝐴 , 𝑃3 = 12𝑊, 𝑃12𝑉 = −24𝑊, 𝑃10𝑉 = 20𝑊, 𝑃8𝑉 = 16𝑊  
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 𝐴𝑛𝑠:  𝑖𝑜 = 4𝐴 
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 𝐴𝑛𝑠:  𝑉𝑥 = 4.167𝑉 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
𝐴𝑛𝑠:  𝑉𝑜 = −4.444𝑉, 𝑃 = 98.75 
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𝐴𝑛𝑠:  𝑉𝑥 = 2𝑉, 𝑃 = 1.92𝑊 
  
 
  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
𝐴𝑛𝑠:  𝐼20 = 0.1𝐴, 𝑉20 = 2𝑘𝑉, 𝑃20 = 0.2𝑘𝑊 
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𝐴𝑛𝑠:  𝑖𝑥 = 30𝑉, 𝑃 = 960𝑊 

 
 
 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

𝐴𝑛𝑠:  𝑖1 = 11.2𝐴, 𝑖2 = 1.6𝐴, 𝑖3 = 9.6𝐴, 𝑖4 = 6.4𝐴, 𝑖5 = 3.2𝐴 
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𝐴𝑛𝑠:  𝑖1 = 3.2𝐴, 𝑖2 = 4.8𝐴, 𝑖3 = 2.4𝐴, 𝑖4 = 9.6𝐴 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
  

𝐴𝑛𝑠:  𝑉0 = 8𝑉, 𝑖0 = 0.2𝐴 
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𝐴𝑛𝑠:  𝑖 = 0.5𝐴, 𝑉0 = 1.5𝐴 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  
𝐴𝑛𝑠:  𝑅 = 2.5 
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𝐴𝑛𝑠:  𝑅𝑒𝑞 = 12.5, 𝑖0 = 3.2𝐴 

 
 
 𝐴𝑛𝑠: 𝑅 = 16 
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 𝐴𝑛𝑠: (𝑎) 𝑅𝑎𝑏 = 4, (𝑏) 𝑅𝑎𝑏 = 5.818,  
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  𝐴𝑛𝑠: (𝑎) 𝑅𝑎𝑏 = 59.8, (𝑏) 𝑅𝑎𝑏 = 32.5,  
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